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S W = B 10 ke 864 540 | FHD A ™ 5 10 ke 3, 564 —
TP 2 [ 200 g 54 27 | Wk A T OB 10 ke| 1,998 1,944
LA A B | 250 g 108 75 | ST = & 10 ke 4, 644 1, 296
ZEDR G 200 g 54 | 32 | TAALE— = B 270 g 378 162
EohAES | T8 B 200 g 64 43 | DD = R 270 g 378 162
Fh&E &= 150 g 64 59 | X2MZDH AE A 250 g 399 216
L AEL x BR 160 ¢ 86 75| T—AAAT 5 9 keg| 17, 280 9, 720
7N A BEIRE 10 ke 864 324 |
FEEEICA T A IR 10 ke 1, 404 864
i< & A 15 ke 756 432
Xy XY =T A 10 ke 864 648
L&A £ E 10 ke 3, 078 2, 700
EX RN o 5 ke 2,484 | 1,836
iorn A 5 ke 2, 268 —
b= b fE AR 4 ke 1, 296 —
-y B A 150 g 97 —
IFh Lok b 10 ke 1,296 1,080
mERE AbiEE 20 ke 3, 240 3, 132
A LWET | B 100 g 172 97
LT £ B 100 ¢ 54 45
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ENTF F O 1 kg 1, 350 432
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